

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

**PO**:

Shipping Address:

37 Beverly Park Circle

Private Home

## IN-0006376

Sacks Productions 23622 Calabasas Road Suite 351 Calabasas, CA CA

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Main Tree Race	etrack				
	Oversized Plush 'Donkey Kong' to hang in the main tree	1	\$400.00	Т	\$400.00
	Hanging 'Question' Boxes	20	\$150.00	Т	\$3,000.00
	Hanging Faux Banana Pieces	40	\$10.00	Т	\$400.00
	Kids Modular Club Chair - MultiColor (2) Yellow (2) Blue (2) Red (2) Green	8	\$65.00	Т	\$520.00
	Kids Coffee Table (tray) 20" x 20" x 8"H	4	\$50.00	Т	\$200.00
	Lisbon Sofa - Yellow Velvet	1	\$450.00	Т	\$450.00
-	Lisbon Side Chair Yellow Velvet	2	\$150.00	Т	\$300.00
BOOST	Coffee Tables - Kids - Shoe Box white with Mario Details	1	\$325.00	Т	\$325.00
	Wooden Barrel 'DK' stacked wooden barrels with DK logo on front	6	\$150.00	Т	\$900.00
		Total Main Tree Racetrack		\$6,495.00	
Adult Lounge					
	Perimeter Pullback Drape - Off White Gauze single sided; Instock	1	\$1,850.00	Т	\$1,850.00
	Exterior Ceiling Cap - White Poplin	1	\$1,250.00	Т	\$1,250.00
	Perimeter Valance - Interior & Exterior Red and white Stripped Valance	1	\$1,850.00	Т	\$1,850.00
	Kids Mushroom Table - Assorted Color	5	\$200.00	Т	\$1,000.00

Conto

Description		Qtty	Price		Total
Æ	Kids Mushroom Seats - Assorted Color	15	\$85.00	Т	\$1,275.00
	New York Bar 8' - White Frame Hand Painted Mario Details Ronald and Richard	2	\$1,250.00	Т	\$2,500.00
	Straight Barback 8'L - White	2	\$250.00	Т	\$500.00
2110	Ibiza Half Moon Sofa - White	8	\$550.00	Т	\$4,400.00
	"?" Box Tables 24" x 24" painted yellow to resemble the movie	16	\$200.00	Т	\$3,200.00
	Ottoman Pod 18"D	24	\$45.00	Т	\$1,080.00
			Total Adult Lounge		\$18,905.00
Food & Activity S	Stations				
	Mushroom Paper Lanterns assorted sizes hanging in each cabana; color matching the color of the cabana	8	\$450.00	Т	\$3,600.00
	RED Ceiling Cap for 10' x 10' T&C Canopy	2	\$750.00	Т	\$1,500.00
	Perimeter Drape - Off White Gauze single sided; instock Fabric	2	\$850.00	Т	\$1,700.00
	Red Stripped Valance double sided; interior and exterior	2	\$650.00	Т	\$1,300.00
	BLUE Ceiling Cap for 10' x 10' T&C Canopy	2	\$750.00	Т	\$1,500.00
	Perimeter Drape - Off White Gauze	2	\$850.00	Т	\$1,700.00
	Blue Stripped Valance double sided; interior and exterior	2	\$650.00	Т	\$1,300.00
	YELLOW Ceiling Cap for 10' x 10' T&C Canopy	2	\$750.00	Т	\$1,500.00
	Perimeter Drape - Off White Gauze	2	\$850.00	Т	\$1,700.00
	Yellow Stripped Valance double sided; interior and exterior	2	\$650.00	Т	\$1,300.00
	GREEN Ceiling Cap for 10' x 10' T&C Canopy	2	\$750.00	Т	\$1,500.00
	Perimeter Drape - Off White Gauze	2	\$850.00	т	\$1,700.00
	•				

Description		Qtty	Price		Total
	NEW Signage for each Station/Activity Hand Painted in the same MARIO font	8	\$350.00	Т	\$2,800.00
		Total Food	Total Food & Activity Stations		\$24,400.00
Additional Iten	ns & Props				
	Oversized Mushroom 6'H	1	\$500.00	Т	\$500.00
	Oversized Mushroom 4'H	3	\$250.00	Т	\$750.00
	Oversized Mushroom 3'H	2	\$200.00	Т	\$400.00
	Oversized Mushroom 24"H	2	\$175.00	Т	\$350.00
	Oversized Mushroom 16"H (2) Red (2) Yelllow	4	\$150.00	Т	\$600.00
	Oversized Mushroom 12"H	1	\$125.00	Т	\$125.00
	Oversized Mario Star 36"W x 36"H	4	\$650.00	Т	\$2,600.00
	Oversized Piranha Flower 48"H	1	\$650.00	Т	\$650.00
	Mario Character Plush Pillows (10) Mario (10) Luigi (10) Toad	30	\$65.00	Т	\$1,950.00
	Piranha Flower Plush Figures	10	\$65.00	Т	\$650.0
	'Travel Tube' Pedestal - Round 24"x 42"h painted green (see movie reference image)	2	\$350.00	Т	\$700.00
	'Travel Tube' Pedestal - Round 24"x 30"h painted green (see movie reference image)	2	\$350.00	Т	\$700.00
		Total Addit	Total Additional Items & Props		\$9,975.00
Services					
	Prop Decor : Pick Up and Return	1	\$1,200.00		\$1,200.00
	Installers: Install (2) Days	6	\$900.00		\$5,400.00
	Installers: Strike	6	\$450.00		\$2,700.00
	Trucking: 24'L	2	\$450.00		\$900.00
	Trucking: Fuel Surcharge	2	\$65.00		\$130.00
	Supplies: Misc	1	\$500.00		\$500.00
	Manager: Onsite	1	\$850.00		\$850.00
	Manager: Layouts and Sourcing Product	1	\$1,250.00		\$1,250.00
	Custom Artwork: Hand Painting Details	1	\$2,000.00		\$2,000.00

Please make checks payable to Revelry, Inc.	Total Products:	\$59,775.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$14,930.00
Please ready the contract and sign it	Taxes :	\$5,678.63
······································	Discounts:	(\$0.00)
Notes	Total:	\$80,383.63
	Payments:	(\$0.00)

\$80,383.63

Balance: